Secton 6

.@ 5(x-H) -3(2-3%) = -gti} (1o t) + (gx-5)= 157
b_X""()sO-G + 9X = | -—%4—3%-)( +8X"/5- = 137
Hx = Hix = 205
X =z -~ s
. LY :9\‘ .
@X-P%X b A-ix:%x+§l
3% = 20 2 7
E2 23l = &% F3X
g T 3 2
X =10
13 o= X
g9 G
’2}- = X
3
(C3) 4(4-3)+ 2 = 2% - 7(ax-3)
g ! 10
[ ¢z HO y
9, BoH H—%x)w&i.% 3 - "6 7 (2x-3)
= e
_)aX 35 (x3)

39 (4-3%) 7 53

76

; . i
20 @%%)ﬁx -2) _w( 7;_)(4%"33
gg(3¢-2) =36 (4x-3)
M0 x - 100 - 1#x + 108
-6
1

o

“

—

B}

it

(U

)+ 60 (3%5)
%0,

1 +180x

11 +HE0¥

/514

X



(H)" =3
Ay = P-Y =2
Q=pP-2 P
p =209 (1+)) =0
e
E/:V)i _}
P
geotlév\ 3,1
_@C‘J.L%:i 3¢ b) 84-3 3%
30 & 56 2O
@Qi}_@_:& Mg b)) 2 2 5 29
125 25 : 7 a4
30 24 .2 217 4 K . 2m XU
g4 7 Z% 2]
™ 5 -9 g
5% 10
2500 €7500 500 - L /" 35
grso0 35
4250 2751335
FARIDES,

0455

TRN



5
Total m* = 1000 + oo+ $00 +100
- Q900 m™
Auoocd?cém ! |
a 1000 (21000) § 7500 0. #oe. (a1 ov0) = § 3000
C 200 2000
B 600 (alooo) = $ 19090
2300
o' 300 (Q{ 000) = $ G000
- ay00

@ Total # millions = 10,8+ g+ 114 = 35.6

Wothorn div. 10,8 (598 00) = § 189 000

5. |
Fast. dw, E’i 65880@())3$ 147 000
5.0
West. B .4 (589 000) =9 158000
73. b
Leysa; LooLen=le
¢ '3 2" 16 )
4 ot /mmfs _ ardrgrl = 19
o Rl I S
Auocabtiém‘. |
2 (Ye0c00) = B 64 000
E

4 (450000) = $ 128000
> g (49p coo) = $256 000

5 (depoop) = § 32000
(5



n _ 2 s
@ n_2 @ an.
7 l6l q4.¢
V\ er
K= 6
£ Ve
v = Y5
FOR - VR .
JQOO) \ 5 Totel vabie
% _$30500 o
Tt = 3900
valwe
¢/
p ¥ . 30
7 Tobal volve w) 5 e V) = 500
Toto.l - 10400 g’
VOJUU@
T A
wal*v% 5 $0590
/\/\a‘t@»llbt Cost - _E Lobour Cost _ J;
Total, Cost g S
5=
Mods{wu[»d"gt 5
Moderial G5 = Ws
45 = §
Total £ost g

Ta{a/(, OJSt :$7g~



Sédﬁé@w 39
@ Pamemfaﬂ@ base x yole
950 (0.001)

- 075

\

{

Qza F%rc@mﬁﬂye:: baSeixmxfc
~ 500 (oa&gg)

= 2’6“_

@ W*’—”'@Wé@tﬂe ~ hase xvate
- Yoo (L375)
- 550

OE%) fqu5emfa§y@ = kkxéeuxyaﬁé&
20 x (1,66 )

- 515000

@E&f%mmh&%@: b%chﬂﬁi

rute = Lercentege

loa s

54
7

75 7,

—
-~

(9 abe -

=

39

o

%
21637

@ /%Vcenéag@ - hase xvate
= Q40 (015)
= 3

e = bﬂé{x/afc
10 (1.75)
-Ja800

() Ponceritag

(6) rate = Lercortro

hase

I
H40

2.5 %

—
—



@ /O eycen fﬂﬁ/e = ﬁ(@éfﬁ X ﬁﬂg e

.
b 3@@ = }Zlé-x BM{L

rate = 36
o
. - Buse - @2
- QHO 79 .2
- 120

@ _/1_}@_ _ratbe

450
f&b‘éﬁ = H07;
@ 5712, (Total Coit ) @ Percentege - ful C'X\mfg,{g;(ay.
LOJG@UV = f —” ’27 D@(j){/ﬂlf(f}”: {@,/fe)( {pr'os‘;&/:r%
- 0,375 (7 au( = (BOHEEOTHET
-2 Grosn by = (060

@ rate - W

Base

- g

e
< W7

—

@ @) She will get 22 =26 pays
: 23 géX,O@ - $7/g
26
IS hev zfﬁfu&w 7;?099/1:@%



@ rate &, _ 98
hr = [¥
_— = 2
) Fn.24/,
-

cunce she gebe {8
every two weeks.

@ ;"570/&% gross ool L 12,249 (_?_)(X,é‘)
A
= 918+ 221 3)ks) -
= $1071.00
@ Nel sales

W as0- 855 = A3 375

\i

Comisciom = 10000 (45%) + 5000(¢%) + 9395 (8% )

Sgdal. e

@ amoontl ot §da[&r5 _ 337 50-26490C

Lrom (o 5510 7 B
= 735

U@fa 7

Vﬂaf@ ¥ ZGLL[(% mzﬁz‘/g 7
U&LZL’L ]

C@.WM(ss;ém -
(0‘0975)7<[5&[C§ jinys 4

735 =
§34000: Cales e %W?fa

> Cales = 9‘10,00 +%mz§au
. - 540’ + L{g(y@

:j[g[ébf@ :



8 361 = wape (0) ¥ wege (1))

%&} = 1’7’0&{/&/7,5 +~ ﬁwaay’e
261 = 95 (
Z e

fg 7&0/ - weye

hr

Sw%lflém /.é
/____._—-—/
@ | Vet revenye = g_g/é/i?.@,
[ 05
:$27 257,14
GST &06[6&660} - XY 020 - 27 257(/4
= 30286
;ST WL;C( ,
GST\\QM cczme/umf 9/7614%/ = [0»0;)(50 &)
- 40O
GST to V&/dzy z é§f éa//eééccl - 657' pzﬁua/
49626
@ PNC@ U“( §MOU//J@&ZVJ I Oifll[ﬂ///b 6025/\
500050 FS T
C25(p05)73125 65T
- § 70645
ﬂ"llj‘ﬁ c?'L[ 9?‘10.‘,{/,,}70%%[ | &U{/ﬂec 625 )
(25005720 GST

T -, 25



\

e
- §4397.80
® o
Total : _ o 050 00
) Toted 5)(ﬂf_/ndatwee O e o
+ 250 000
+ 700 200
Gro 00

§ 73550007
0. (1% 870 000 )

. ) " J
At Lobe ralse 1 pg0c0

The amowml 7
T)/I‘ay szw/ﬂe"’” 7 a
g A v Lue )
g Loux /’/"L‘,U‘Vméo [5{,498995 2
)D) ﬁf@ﬁﬁv 7 ot B 0007
oep oy = Ml ote (250 P
! 1000
mesl = /wu[( I'/ddef
! '  [pesessed valve )
AL vt

}OMperfy tok = e
. y.32 (175000 )
| CoC

:X’??b’(;



mm[w7 7" Methad A

Tuf,gcfaoy 7
74 (5)(10.60) +Ae. 60)

WG{szfs’c[euy 7[/;1
T/\Wéda(/ /9% . | (é) (’L/‘(;)(/Q'&0>

_7/2

Flffo{a / ‘
g@bfwj&y ¢ = $ 59,25
Methed B
| 5+ joh +75+¢)(10.60)

(75+ 9+ 7
L (4.5)(0.5) 0
E jS 59,25

0.60) an'10.60 )



